REAR series

SH~TIER
—
A w K
= © © )
- =y
2 o /
T /).J ) \><
@ & =
2xP &K~
H T Y o
CB HA L W T AXEE< ) oB
4xJEMALESE = /m<urC
| w
' ol ¢ o
als e nt ==
_32oe 3 I oz
13 O 1o ¢
L & 1
REAR10 REAR15 Hs [ 2 w K [z1vFL—n
CR_|." HR
Q+zhO—o G
Z+2+0-2
| ——
@ ©
© @
(mm)
B A B C CB | CR D F G GP | GW H HA | HC HR HS HT JXE
REAR10 [105] 65|32 | 2 [ 05|12 65| 6 | 27 |255] 26 | 24 | 25 | 24 [ 5 [14 | mMax0.7x6
REAR15 |12 | 8 |42 | 2 |05 |17 8 7 [ 33 [315] 32 [ 30 [ 31 | 30 [ 85 [17 [ Mm5x0.8x7
REAR20 | 9 [ 95|52 | 3 [ 1 [228] 9 6 | 39 [375] 39 | 36 [ 38 | 36 | 7.5 | 21 M6X 1 X8
REAR25 | 85| 95|52 | 3 |1 |278] 85 6 | 44 |425| 44 | 41 | 43 [ 41 | 65 [ 235 mexixs
REAR32 | 105[11 |65 | 3 [ 1535 [105] 7 | 55 [535] 55 | 52 | 54 | 61 | 7 |29 |M8x1.25x10
REAR40 [10 [11 |65 | 5 [ 2 [43 [13 7 [ 65 [635] 67 | 62 [ 66 | 62 [ 8 |36 [M8x1.25%10
LY K|L|L|M| Mm N 2 PW| @ QW | T | W |[ws| X | ¥ | z
i ] TN TF
REAR10 9|38 [35] 4 [M3x05] 45[M5%x08[ — — 26 | 68| 14 [195] 20 | 8 | 15 |39.5]| 80
REARI5 | 14 | 53 [43] 5 [M4x07[ 6 |M5x08| — — 32 | 84| 18 [21 |25 | 7 | 18 |545] o8
REAR20 | 11 | 62 | 56| 5 |M4ax0.7] 7 | Rel/8 [ NPTI/B | — 38 | 95| 17 |205| 40 | 7 | 22 |64 | 107
REAR25 | 15 | 70 | 56 | 6 |M5x0.8][ 65| Rc1/8 | NPT1/8 | Gi/8 | 43 [105[ 20 [21.5[ 40 | 7 [28 [72 [117
REAR32 | 13 | 76 | 7 7 | mM6x1 | 85[ Rei/8 [ NPT1/8 | Gi/8 | 54 [116] 26 [24 |50 | 7 | 35 [79 [130
REAR40 | 15 | 90 [ 7 8 | Mex1 [11 | Ret/a [ NPTI/4| — 64 | 134 34 |26 | 60 | 7 | 40 |93 | 148

38



